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     PART-A(10 * 2 = 20 MARKS)

1.Convert the following binary numbers in to octal numbers:

    a, 1101.0110111

    b,1010011.101101

2.What are the universal building blocks?Why are they called so?

3.Differrentiate multiplexers and demultiplexers.

4.Compare serial and parallel data transfer.

5.Draw the format of a two operand instruction and mention the role

   of each field.

6.Where are the subroutine programs used?

7.What is the role of an I/O interface?

8.What  are the types of commands available for an I/O device?

9.What are the advantage of having different memory hierarchies?

10.Why do you need a cache memory for a computer?

                         Part b-(5*16=80 marks)

11.Prove

     a, i. (X+Y)(X+Z)=X+YZ

         ii. X Y   Z  +X YZ +X Y Z +XYZ =Z.    (8)

     b,Draw the circuit of a full adder and explain.(8)




or

12.Describe the working of different flip-flops with their logic 

    diagram and truth table.  (16).

13.Draw the circuit diagram of a 4-bit binary counter and explain its working with a timing diagram and its truth table.    (16)





or

14. (a) Explain the internal construction of a 3 by 8 decoder with enable input.





(8)

      (b)What are the different operations performed by ALU?Explain





(8)

15. What are the registers available in computers ?What are their usage? How are they connected?


(16)




or

16. (a)Explain the various steps involved in instruction code execution






(8)


(b) What is assembler?Hoe does assembler language differ from machine language?.




(8)

17.Explain in detail the various modes of data transfer schemes.
(16)




or

18.What is  the need for priority interrupts?Explain in detail

     the Daisy-chain priority interrupt.


(16)

19.Explain the principle behind the working of an associate memory with a diagram.




(16)




or

20.What is the need for different addressing modes? Explaint hem 

with   suitable example




(16)

